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OHIISHE AL EIIAHA
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OXN=stdEH HEE AHE(16S) SXZZ2A
1,300,000,000& = 14! 1,300,000
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50,000,000& * 14! 50,000
Ogsd A2 30,000,000 = 14! 30,000
OEFE AIHE S ZAF 150,000,000 * 14! 150,000
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2,000,000& = 14 2,000
403 XX EHHS K20 & 3,000,000 0 3,000,000
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3,000,000,000& = 14! 3,000,000
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= 500,000
= 250,000
Al 250,000
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OMEMY DI Ml o
5,000,000,000& = 1Al 5,000,000
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OSAE M R#HASE HE 134,310
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o 32| & 25& = 2,200,0000H 55,000
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o 102l & 38& * 240,0000H 9,120
<202 & 57& = 420,0000H 23,940
ogetg M #AZ2S& & 257,280
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o202 & 572 % 1,000, 0000H 57,000
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< 1002l H 219&  430,0000H4 94,170
OMAME RABESE M 159,350
o 102l & 412 * 350,0000H 14,350
o202 & 58& = 2,500, 00004 145,000
O338 AZSE M 120,050
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H HH 5,000,000& = 14 5,000
oMgJ| HHE et EXE M
70,000& = 5004 35,000
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220& = 50,0000H 11,000
ocZSESFE 243HMH AEA MH
50& = 500,0000H 25,000
oMeJI2ds+AH EES ME
200& = 20,00001 = 33l 12,000
CHAXY MRA 2YSE 7Y
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o B0 AA(SH)22AAE SX 22
3,000,000& * 14 3,000
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oH2AA*E =H ==& 1,000,000& = 23 2,000
coRSEI ANBBY ZBHEE 7Y
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Oogxtz 36,000
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OHJI7& S UHEHII2 Ml
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M YNE MEEZ X4
& MYIIBSEM 243 * FH (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
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203 R =&t 2,500 2,500 0
03 A F=XH R Z=ZH| 2,500 2,500 0
OXNJ=stAME=A 2,500,000& = 14 2,500
Heeg suotg X (XD 4,000 4,000 0
201 Let24d] 4,000 4,000 0
02 =224l 4,000 4,000 0
OA&ZEHl ®Xdl 4,000
ocMMEESULE RXE=>
4,000,000& = 14 4,000
At L a2 =8 3,890,703 3,120,313 770,390
= 402,425
< 6,384
Al 3,481,894
SASFHIIZ Q22AE Xl 2,400,000 2,200,000 200,000
307 21201 A 2,400,000 2,200,000 200,000
05 BIZERI & 3 2,400,000 2,200,000 200,000
OSAMERHIIE Ml U«
120,000& = 20,000& 2,400,000
SASRHIIS £ HEES NAS 678,068 427,966 250,102
101 @124l 21,600 19,050 2,550
04 JI2ZtHZ22HEE = 21,600 19,050 2,550
OMEESE 2728 Y
72,000& * 2% = 150 21,600
201 et 100, 168 62,616 37,552
01 At 22l 15,600 10,800 4,800
OgBt=&H| 15,600
cSAZSRHIIZ 22liEs E2 M
120& = 10,0000 = 38 3,600
oMEEE Zolths 222 ME
120& = 20,00000 = 43 9,600
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02 =224l 84,568 51,816 32,752
O3 & HA 900
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= &l 4,000 = 30104 = 123 14,448
=X 2el 220,000& = 301CH 66,220
206 M= Hl 90,700 70,700 20,000
01 M= 4l 90,700 70,700 20,000
O8AEFHIIE HNEBEI ¥
50,000& = 7004 35,000
oMgEs(1383) =g 7
4,000,000& =+ 54 20,000
OSASRHIE HEED] 5N 2¥
4,000& = 1,50004 6,000
OSHERHIIZ 45242 2
50,000& = 3001 = 2& 3,000
ON&E8s 22=HE F+& 200,000& = 5004 10,000
ongss 2cl+=AH 12 7g
4,000& = 1,5000H 6,000
OHAERX =HEg ¢ 100,000& * 504 5,000
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307 21201 A 210,000 120,000 90,000
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O=2sdotd &= X 7,600,000& = 400 A&~ 30,400
= 9,120
& 6,384




NV EEE SN HREHD
M WEE MEBEZ XA
Cel: UEES U HEE =X (el & e)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
L] 7 77,596
HHSAAY (G A& D) 13,645,630 12,296,657 1,348,973
< 23,600
Al 13,622,030
olet e o 13,598,834 12,258,865 1,339,969
= 23,600
Al 13,575,234
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oMM (M eal) 1,423,999
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o= 2| SMH|(2HAHI)
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WHEAHAN XK= 200,000 200,000 0
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B Z2EACA
ool YSSHL2Y 2L (B9 ®R)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
OCHHEE &L SHYEAIE Mz 7
5,000,000& = 14 5,000
401 Al& Bl 28I 203,000 153,000 50,000
01 A& HI 200,000 150,000 50,000
OANEZ Ex22 MY 100,000,000& * 14! 100,000
Ox==S48Z 2elArY 50,000,000& = 14 50,000
OS5 & x37 B2A T
50,000,000& = 14 50,000
03 Al =2 0HHI 3,000 3,000 0
Ox==3 22 A 3,000,000& * 14 3,000
405 RHoHE S HI 1,900 1,900 0
01 AL EZFH S 1,900 1,900 0
Oul=J =< 600,000& = 1CH 600
Odstd s ds3+ 600,000& « 1CH 600
O&2J 7Y 700,000& * 1CH 700
A= L ASHTLH(LESEF2RY 2SMY) 100,000 100,000 0
s 50,000
< 15,000
Al 35,000
401 Al BIZ 2018 100,000 100,000 0
s 50,000
< 15,000
Al 35,000
01 A& HI 96,000 98,000 A 2,000
OYSEE4+2 ZAAY
96,000,000 = 14l 96,000
s 48,000
< 14,400
Al 33,600
03 Al 20 HI 4,000 2,000 2,000
OLELEESA BSAY  4,000,0008 * 14 4,000
s 2,000
< 600
Al 1,400
AEMHEAZER0 29 X (>SAIZ0UOH 29) 20,294 18,452 1,842
= 10,147
< 3,044
Al 7,103
101 @124 Hl 20,294 18,452 1,842
= 10,147
< 3,044
Al 7,103
04 JIZtHZ2XREES 20,294 18,452 1,842
O==&2C0UOlH 20,294,000& * 1H 20,294
= 10,147
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= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
< 3,044
Al 7,103
=&l fE2g XA 50,000 44,000 6,000
= 25,000
< 7,500
Al 17,500
201 £B-2dH| 50,000 44,000 6,000
= 25,000
< 7,500
Al 17,500
01 At 22l 50,000 44,000 6,000
O=dld *Igt=2d 50,000,000& * 14l 50,000
= 25,000
< 7,500
Al 17,500
0= g9 50,000 44,000 6,000
= 25,000
< 7,500
Al 17,500
201 Let2d] 50,000 44,000 6,000
= 25,000
< 7,500
Al 17,500
01 At 22l 50,000 44,000 6,000
20tz s fE2Y 50,000,000& = 14 50,000
= 25,000
< 7,500
Al 17,500
WES TASE 2,364,858 4,777,004 A2,412,146
NS& =4 - 22 2,364,858 4,777,004 A2,412,146
SANSE ANE SR2el A 777,000 1,237,000 A460,000
401 AIEHI L 2CHYI 777,000 1,237,000 A 460,000
01 A& HI 770,000 1,230,000 A460,000
OZEANERINE S 770,000
SHEOIZSA AlE E== 2 WA
100,000,000& * 14 100,000
oZEU 2SI ¥ HAANE &1
30,000,000& * 14 30,000
oTRAU +2 MFHP Y L BAS
50,000,000& = 14 50,000
oZRANEE SANESX (M, 24 S)
40,000,000& = 14 40,000
oZ¥ dols ZH ¥ URFA
100,000,000& * 14 100,000
o2 A& M 200,000,000& * 14| 200,000
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oxs ZsAE EX AY
50,000,000& * 14l 50,000
oZ ¥ CHMAIH(CCTV, HI MY S) AXISA
50,000,000& * 14 50,000
o2AE=X AEg2 43 ¥ FH|
100,000,000& * 14 100,000
o2 0A AIE2 2= 50,000,000& * 14! 50,000
03 Al S THHI 7,000 7,000 0
OZ3ANE RANE=> 7,000,000& = 14 7,000
ANSE LEL2E 22 387,618 560,651 A 173,033
101 @144l 57,272 235,505 A 178,233
04 JIZHHZ2Z2XNESE+ 57,272 235,505 A 178,233
OJIEH LAIAIE 22X 52,272
=Jl2g 72,0003 * 22" » 20 31,680
oFFd 72,0003 * 229 * 4 6,336
oIt 72,0003 * 229 » 9« 14,256
Ot EH 5,000,000& = 14 5,000
201 €24 215,346 210,146 5,200
01 At 22l 42,200 34,200 8,000
OANdE 272 =4 5,000,000& = 14 5,000
OO0l 0l=0lAlE et ae| W=l
250,000& * 23 500
OO0 0l=0lAlIE ZIIEBAL =2
400,000 * 2504 & 10,000
Oz3 el Fdl gxz 500,000& = 43| 2,000
OZAALE 22X EEEHX S Xt
8,000,000& = 14 8,000
OZ32ANE Fid2 AN =2
400,000& » 2500 & 10,000
oxgsE & Zgst 300,000& * 44 1,200
O&==ZHl Xt 5,000,000& = 14 5,000
OZZLoH S22 EXNAER
500,000& = 14 500
02 =24l 173,146 175,946 A 2,800
O3 & HA 162,896
o2 AlE MIIHH Zeid =2
400,000& = 12& 4,800
o4 - ot=& 23 2,500,000& = 12& 30,000
cHMIIANE 23 9,000,000& = 12& 108,000
oSt 23 50,000& = 12& 600
oFAE9H| 10,446,000& * 14 10,446
oZLXelyl 125,000& » 8 & 1,000
o(HE 0l =0IAE At A MUABEZ
175,000 * 4604 & 8,050
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AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
O3 MAH =2yl 2,000,000& * 14 2,000
OXE L AEHH REH 687,500& + 12& 8,250
206 M =8l 110,000 110,000 0
01 X2 bl 110,000 110,000 0
O &2 =&+ 22 50,000,000& * 14 50,000
Osd&e Mz 7 60,000
oZR2e £=222 MB(ZZ . HZ2,2HS)
30,000,000& * 14 30,000
oBJANEE BT 7
30,000,000& * 14 30,000
305 HHA =SS 5,000 5,000 0
o1 Hiad=2S 5,000 5,000 0
Oz=dliu&a2 5,000,000& * 14 5,000
SANSE &4 - 22 2Z & Ul 4,000 4,000 0
202 (4] 4,000 4,000 0
01 2L Y| 4,000 4,000 0
OZAN3d =48 =&Y 4,000,000& * 14 4,000
S A MtEBSE bl 20,000 20,000 0
401 Al HI L 2 0HHI 20,000 20,000 0
01 A&t 20,000 20,000 0
OUEZRE NES B4 2 +2AT)
20,000,000 * 14 20,000
TASE =4 48,000 416,000 A\ 368,000
201 et A | 18,000 16,000 2,000
01 AFR2 2t 2l Yl 18,000 16,000 2,000
OEXNAMEZ 18,000,000& * 14 18,000
401 AIEHIL 20| 30,000 400,000 A 370,000
01 Al&Z Bl 30,000 400,000 A370,000
OdMH AZB3XH 30,000,000& * 14 30,000
Ol ZAIE(ZTANBSAL=X )R 22 ALY 1,128,240 1,185,063 N 56,823
101 2124 d| 534,240 500,063 34,177
04 JI2ZtHI22 NS E 534,240 500,063 34,177
OJIEF LAIAISE 22X 534,240
SPIES= 72,000& = 354 = 180 453,600
oFFaY 72,0003 * 35H * 262 65,520
SR E= 72,000 * 35H * Y 15,120
201 LEt2 Y| 129,000 213,000 A 84,000
01 AFR2t2ldl 5,000 5,000 0
Ostoli iyl 2=+=XtsF A X 5,000,000 * 14 5,000




AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
02 3524l 124,000 208,000 A 84,000
O332=2 % HA 124,000
oML 22 3,000,000& = 12& 36,000
oclIINE 223 5,000,000& * 12& 60,000
oXHAEZAY| 28,000,000& = 14 28,000
206 I = bl 100,000 100,000 0
01 & bl 100,000 100,000 0
OMz+x¢ 100,000,000& * 14] 100,000
401 Al HI YL 2 0HHI 355,000 355,000 0
01 A& HI 350,000 350,000 0
O=X ¥ &3 |gA&2 SA
200,000,000 * 14 200,000
02223 ARDAIE Ef
50,000,000& * 14 50,000
O2s, o9&, da=I &l
100,000,000& * 14 100,000
03 Al& 201l 5,000 5,000 0
OO0l A A2l At 5,000,000& * 14 5,000
405 XtabF SHI 10,000 17,000 27,000
01 AL 2 EF SHI 10,000 17,000 A7,000
o732 M2M&E1D 7¢ 10,000,000& = 1CH 10,000
B FH J2EY| 691,080 380,480 310,600
NG 2 HUlALY 691,080 380,480 310,600
3AHel2g 2H3AY 691,080 380,480 310,600
101 2124 4| 97,480 17,280 80,200
04 J|2tH2ZXNEE S 97,480 17,280 80,200
OZgHe sE3EFH o2 96,480
PR 72,000& * 5% * 19 ~ 12& 82,080
oxFaY 72,000& * 59 x 40 14,400
O™ EH| X2 1,000,000& = 14l 1,000
201 LEt2AY| 177,600 196,500 A 18,900
01 AFR2t2l bl 110,000 115,000 A5,000
O35 EAER2E 4285 2
5,000,000& * 14 5,000
OZ2LMA AX0l 2 MESEXS(EatH2l)
100,000,000& * 14 100,000
OZstHel2g 2= A&
5,000,000& * 14 5,000
02 332494l 67,600 61,500 6,100
O&stHel &Iz 30,000,000& * 14 30,000
O&3tHel Hot=z 8,400,000& * 14 8,400
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SN BAGIA) - HRAY - BES 0l &t o il HImEET
ONEE SN+ & ZE22E
20,000,000& =« 14l 20,000
OZstHel AIEdES MYEE Y=
5,000,000& = 14 5,000
Ogstel 28X |FAE=H
3,000,000& = 14 3,000
O&stHel 2EXE 8FH 100,0008 * 128 1,200
202 044l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
Ogstel 29 =& ol
20,000& = 4H = 753] 6,000
206 M= Hl 3,000 0 3,000
01 M= 4l 3,000 0 3,000
OdstAHel Ald=22e2 M=l
3,000,000& * 14 3,000
401 Al HIZ 2018 407,000 51,000 356,000
01 A& HI 400,000 50,000 350,000
OESANU(BSANE)RNES AL
150,000,000& * 14 150,000
OgstHel (=8 £ TFANEE) RAES MY
100,000,000& * 14 100,000
OZ3atHel CCTVE XIAHE
20,000,000 = 504 A 100,000
Odstn MO HEAY 50,000,000& * 14 50,000
03 A2 2 THHI 7,000 1,000 6,000
OgstHel 2 gd3t A
7,000,000& = 14 7,000
HYR2FHH (=X1) 31,174 24,364 6,810
Jl23l 31,174 24,364 6,810
JlE2&l 31,174 24,364 6,810
201 L2l 19,324 15,964 3,360
01 At 22l 19,324 15,964 3,360
Oget=&H| 6,700
cHFANRES e 300,000& = 12& 3,600
oARE &N FYHI 10,000& = 100& 1,000
SHR2REZ 15,0008 = 5& = 128 900
ocARY 3P YHI 100,000& * 123 1,200
Oogxtz 1,200
oc¥a) Y= 50,000 = 128 = 2004 1,200
O= &l 11,424
oL ALY
8,000& = 17 74 » 12& 11,424
202 Odl 7,650 5,400 2,250
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& 123l (Sl & &)
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 = LH 4 bl 7,650 5,400 2,250
OJlzge==a 0t 90,000& = 17¥ « 53] 7,650
203 YR =2t 4,200 3,000 1,200
04 EASIYRFLH 4,200 3,000 1,200
ORNZ2EYRFA 350,000& = 123 4,200
Hees(=sX) 4,000,000 0 4,000,000
HEHHKE 4,000,000 0 4,000,000
LHEHeHXI = 4,000,000 0 4,000,000
701 JIEtSI HEHES 4,000,000 0 4,000,000
01 JIEtZIHEES 4,000,000 0 4,000,000
OFIINIEY TANHEANE B4 EHIIH 85
= 4,000,000,000& = 14 4,000,000
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N = 0] &F AF S & AN A
A= ANEHE=2 2A oA
Ha: yaaAW 25
Sl FMFHAE (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
off 2F 4= AF 1} 14,051,974 14,277,317 N 225,343
= 486,761
g 2,454,000
& 2,839,410
Al 8,271,803
oAt B M A5 11,997,644 13,485,647 N 1,488,003
= 486,761
g 1,514,000
& 2,790,187
Al 7,206,696
A RS 526,188 234,350 291,838
= 15,807
o 145,255
Al 365, 126
ol X=ALAI R S 9,800 15,000 A5,200
201 et 9| 9,800 15,000 A5,200
01 AP 2t 2] d| 9,800 15,000 N5,200
ObAIES 5,000,000& = 1A 5,000
Odot Y dMXBIIIE A28 2
2,000,000& = 1A 2,000
Ox=MZTHRA|SE =2 70,0008 » 10H = 23] 1,400
O%MAMEE MALY
70,000 * 10¥ = 23| 1,400
HELMAE 2HHH| 11,700 8,500 3,200
202 04d| 9,600 6,400 3,200
01 2L I 9,600 6,400 3,200
Ol atx s FA 20,000& = 4¥ x 1203 9,600
203 & R =& H| 2,100 2,100 0
03 Al ZH =& 2 = X H| 2,100 2,100 0
OHLLALAIZH FX 2,100,000& = 1A 2,100
2= A010] U DJE AN X 20,000 18,200 1,800
= 4,000
Al 16,000
307 2Iz2to| A 20,000 18,200 1,800
= 4,000
Al 16,000
04 SIZ2SHAAISH E & 20,000 18,200 1,800
Ozx4tolo W IS Ab X &
20,000,000 * 14! 20,000
&< 4,000
Al 16,000
HE QISSHAL XI& 5,000 25,000 A 20,000
307 S12t0| & 5,000 25,000 A 20,000
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SA BB S(BA) - MM - BES Ol &+ o4 e
< 1,440
Al 3,360
gIztol & 12,800 8,000 4,800
= 8,000
< 1,440
Al 3,360
QI A E X 12,800 8,000 4,800
O0It&=<0l X& 16,000,000& * 80% 12,800
= 8,000
< 1,440
Al 3,360
2HE HFRAEXI MEXA 9,066 0 ,066
< 3,400
Al 5,666
It =01 A 9,066 0 ,066
< 3,400
Al 5,666
QI 2AILSE R (O E) 9,066 0 ,066
OW=AYHM EXII ME X
11,333,000& * 79.99% 9,066
< 3,400
Al 5,666
183 AR BEF 60,000 0 ,000
It =01 A 60,000 0 ,000
QI 2AILSE R (XM E) 60,000 0 ,000
O0geEs AR &=
100,000,000 * 60% 60,000
LEI AR L HASAE HE 240,000 0 ,000
< 90,000
Al 150,000
It =01 A 240,000 0 ,000
< 90,000
Al 150,000
QIZEXEAIE B E (0 & THE ) 240,000 0 ,000
OIS LS MR L YEAL AY
00,000,000& * 80% 240,000
= 90,000
Al 150,000
ZZocgts 0 dsMED B+ X 32,000 0 ,000
< 12,000
Al 20,000
QI =01 32,000 0 ,000
= 12,000
Al 20,000
QIZEXEAIE B E (01 ETHE ) 32,000 0 ,000
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ol IR
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307 glz2tol & 6,000 6,000 0
< 1,800
Al 4,200
02 PIZHEHAHE L 6,000 6,000 0
OAMZEFLBIXA 6,000,000& =+ 14l 6,000
< 1,800
Al 4,200
e Mg 2kal 250,000 220,000 30,000
< 75,000
Al 175,000
206 M= Hl 175,000 152,420 22,580
< 52,500
Al 122,500
01 MHZ 4l 175,000 152,420 22,580
Ool &M & & 175,000,000& * 14 175,000
< 52,500
Al 122,500
401 AIEHIZL 2 CHEI 75,000 67,580 7,420
< 22,500
Al 52,500
01 A& HI 74,330 66,000 8,330
Oty SLsEE =4 74,330,000 * 14l 74,330
< 22,299
Al 52,031
03 Al =2 THHI 670 1,580 A910
OSHA M & oAl 670,0008 * 14! 670
< 201
Al 469
ST =S 26,600 26,300 300
202 044l 6,600 6,300 300
01 S LHOIYI 6,600 6,300 300
Ox=4d=d =& 20,0008 * 3F = 1102 6,600
206 M= Hl 20,000 20,000 0
01 =4l 20,000 20,000 0
OU= HEXF =4 10,000,000& » 204 20,000
g=0H2HE Xot=s N 28,000 0 28,000
< 8,000
Al 20,000
402 RIZEX 201 A 28,000 0 28,000
< 8,000
Al 20,000
02 RIZE X2 AL EZ (OIS ) 28,000 0 28,000
Og=+01 A& Kot HE
40,000,000& = 70% 28,000
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402 2I2tX201 &
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= M
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= Hn
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= M
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Al
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9,000
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21,000
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R EEE SN YA
Ha: yaaAW 25
Sl AaRATL (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
O CHE&Hl XI& 75,000,000 * 70% 52,500
< 15,000
Al 37,500
D=2 e XA 50,000 50,000
= 50,000
402 RIZ2EX201 ™ 50,000 50,000
= 50,000
02 QI2t X2 AFL 2= (01X THE) 50,000 50,000
OCunx=2 Ui NA 62,500,000& * 80% 50,000
= 50,000
e SatLA X &4 300,000 300,000
< 90,000
Al 210,000
206 i 2 bl 90,000 90,000
< 27,000
Al 63,000
01 =8l 90,000 90,000
O SAHYS 90,000,000& * 14l 90,000
= 27,000
Al 63,000
401 Al& I 28I 210,000 210,000
S 63,000
Al 147,000
01 A& HI 208,500 208,500
Odfset 4% x4 208,500,000& * 14 208,500
< 62,550
Al 145,950
03 Al 2 0HHI 1,500 1,500
Odfst EstACHR =4 1,500,000& * 14l 1,500
< 450
Al 1,050
oot MEEd =& 200,000 200,000
< 100,000
Al 100,000
308 XX EHSOIA 20,000 20,000
< 10,000
Al 10,000
10 B3I/ 2S0HUHeZAEEALS I 20,000 20,000
(OFSPNEPNR=2:) 20,000,000& * 14 20,000
< 10,000
Al 10,000
401 A2 HIL 2 TH Y| 180,000 180,000
= 90,000
Al 90,000
01 A& HI 178,710 178,710




A= ANEHE=2 2A oA
Ha: yaaAW 25
Sl AaRATL (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Odior MEjatd =& 178,710,000 * 14! 178,710
=} 89,355
Al 89,355
03 Al 20| 1,290 0 1,290
Ocor MEjatd 53 1,290,000 * 14! 1,290
& 645
Al 645
H=3 2t M AESHE =3 100,000 0 100,000
== 30,000
Al 70,000
401 AIEHI 2 201 Y| 100,000 0 100,000
= 30,000
Al 70,000
01 Al&H| 100,000 0 100,000
OU=2 28 HENAEY =2
100,000,000 * 14! 100,000
= 30,000
Al 70,000
= WS HED AL 5,376 0 5,376
& 1,536
Al 3,840
402 SI2vXH=20| ™ 5,376 0 5,376
o 1,536
Al 3,840
02 CIZEXIEAIS E X (0| XM THL) 5,376 0 5,376
OWs+=H s MHELD AL 7,680,000 = 70% 5,376
&< 1,536
Al 3,840
M2 IIE - RS 4 2,767,760 2,761,000 6,760
Fag 1,200,000
= 425,760
Al 1,142,000
=ME AZEH HE XS 30,000 30,000 0
206 M = H| 30,000 30,000 0
01 X2 H| 30,000 30,000 0
Ox=pME AT HEXH
30,000,000 = 14! 30,000
=MEZSISHAYE 2 XN 160,000 100,000 60,000
307 2Iz2t0| & 100,000 100,000 0
02 QI AAIRE E X 100,000 100,000 0
OXGE 29 22X 125,000,000& = 80% 100,000
401 AIEHIZL 2 0HY| 60,000 0 60,000
01 Al&H| 60,000 0 60,000
OXHE HSI| A 60,000,000& * 14! 60,000




R EEE SN YA
Ha: yaaAW 25
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- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
== =N =F]H XA 60,000 0 60,000
< 18,000
Al 42,000
307 gl2tol & 60,000 0 60,000
< 18,000
Al 42,000
02 It HAHE L 60,000 0 60,000
O=x4tE ==gHd 8JH XN
60,000,000& = 14 60,000
< 18,000
Al 42,000
EHE2 N2HMEAE X2 56,000 0 56,000
< 16,800
Al 39,200
402 RI2EXt20| ™ 56,000 0 56,000
< 16,800
Al 39,200
02 QI 2 AL EZ (01X TH ) 56,000 0 56,000
OZH:E2 M2MFAL X
80,000,000& = 70% 56,000
< 16,800
Al 39,200
s&E HEHIZE , 100,000 2,100,000 0
s ,200,000
< 270,000
Al 630,000
402 212t X201 & , 100,000 2,100,000 0
s ,200,000
< 270,000
Al 630,000
02 2IZF 2 A EZ (01X TH ) , 100,000 2,100,000 0
Ox=tENFHIA=E  3,000,000,000& * 70% , 100,000
as ,200,000
< 270,000
Al 630,000
YA == AE N3 270,000 369,000 A 99,000
< 90,000
Al 180,000
402 RI2EX=20l A 270,000 369,000 A 99,000
< 90,000
Al 180,000
02 QI EAILS EZ (01T S) 270,000 369,000 A 99,000
OXFH =33 AE X
300,000,000& * 90% 270,000
< 90,000
Al 180,000




Hez=
FMAWA 23
N2 JIB - RS 5

= 4 &
SN BB of 4 o4 il HI RS2
2P TENY FAST ST 2CE 220N X 64,000 64,000 0
= 19,200
Al 44,800
402 QI2tXt=01 ™ 64,000 64,000 0
= 19,200
Al 44,800
02 Q=AM E X 64,000 64,000 0
oL YeHae
ANE K& 64,000
£ 19,200
Al 44,800
SEHAY FHER 27,760 0 27,760
= 11,760
Al 16,000
402 It Xt=01 & 27,760 0 27,760
= 11,760
Al 16,000
02 2t tEAMHEE 27,760 0 27,760
OENLY 2
00,000& * 69.4% 27,760
= 11,760
Al 16,000
=S 4,464,406 3,138, 144 1,326,262
= 147,434
= 40,000
= 1,359,756
Al 2,917,216
=M= X a 27,135 28,800 A 1,665
= 5,427
Al 21,708
201 L2yl 27,135 28,800 A1,665
< 5,427
Al 21,708
01 AtR 2t 2l | 27,135 28,800 A 1,665
Od==4t ™
27,135,000& * 1 27,135
= 5,427
Al 21,708
g MR L= 1,654,371 1,502, 147 152,224
< 496,503
Al 1,157,868
402 212t Xt=01 1,654,371 1,502, 147 162,224
= 496,503
Al 1,157,868
03 It E ALY 1,654,371 1,502, 147 162,224
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e g XEL S (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
SEEEELEICENRE
1,654,371,000& = 14! 1,654,371
& 496,503
Al 1,157,868
AHAN2 OIXEA 52,500 49,627 2,873
== 15,750
Al 36,750
307 2Iz2t0| & 52,500 49,627 2,873
= 15,750
Al 36,750
08 OIXIE & 2 52,500 49,627 2,873
OWgol dHAE OIlXES
52,500,000 * 14! 52,500
= 15,750
Al 36,750
HE WY 2EHE X 217,000 155,600 61,400
< 65,100
Al 151,900
307 S12t0| & 217,000 155,600 61,400
= 65,100
Al 151,900
02 DIZIEAAIRE E X 217,000 155,600 61,400
OOlEe MalEAPEE e
217,000,000& = 1A 217,000
o 65,100
Al 151,900
e MolEA B2 X 115,500 95,000 20,500
o 34,650
Al 80,850
307 212t0| & 115,500 95,000 20,500
o= 34,650
Al 80,850
02 QI AAIE E X 115,500 95,000 20,500
OWHE Mol24a B8 X
115,500,000 * 14! 115,500
= 34,650
Al 80,850
QAQNNME DNEOLE X 40,000 40,000 0]
o=} 12,000
Al 28,000
307 212t0| & 40,000 40,000 0]
= 12,000
Al 28,000
02 QIZHBAAIRE E X 40,000 40,000 0
OA=QI0HE DBUEN X
40,000,000& * 14l 40,000
o 12,000
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| Al 28,000
I AAOHE &HBH XA 162,500 86,900 75,600
< 48,750
Al 113,750
307 gl2tol & 162,500 86,900 75,600
< 48,750
Al 113,750
02 PIZHEHAHE X 162,500 86,900 75,600
OMSAIAHE AAOH HE JAHEH X2
162,500,000& * 14 162,500
S 48,750
Al 113,750
L2EHA 2D & 50,000 0 50,000
s 40,000
< 5,000
Al 5,000
401 AIEHI L 2CHEI 50,000 0 50,000
s 40,000
< 5,000
Al 5,000
01 A& HI 50,000 0 50,000
Oagoid I &X 50,000,000 = 14l 50,000
s 40,000
< 5,000
Al 5,000
dEd UXZ2ZEH 22 198,868 205,200 N6,332
= 99,434
< 19,887
Al 79,547
402 QIZ2EX20l A 198,868 205,200 N6,332
= 99,434
< 19,887
Al 79,547
02 U2 THEALEZ(0IETHR) 198,868 205,200 26,332
Oldss L=J/&, 4, €HI&EX WUHMXA
198,868,000& * 14! 198,868
= 99,434
< 19,887
Al 79,547
O & OFE AL D (ZERO)SH AlE H 108,720 67,432 41,288
201 Let24E] 8,000 7,000 1,000
01 At 22l 8,000 7,000 1,000
OFEF THoH M ZAIE K&
8,000,000& * 14 8,000
401 Al HIZ 201 I 100,720 60,432 40,288
01 A& HI 100,000 60,000 40,000
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Dol Y=Lt BYE A
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- _ — d =
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OSE7 HMAD HME3S A4 FHI
100,000,000& * 14 100,000
03 Al 2 THHI 720 432 288
OEP et™MAD HE3 AlE FHI
720,000& = 14 720
SH0HY &= 18,640 16,200 2,440
201 £B-2d| 5,000 3,000 2,000
01 At 22/l 5,000 3,000 2,000
O=sg0ogdts 23 M - 2
5,000,000& = 14 5,000
202 o4l 3,640 3,200 440
01 = LH 4 Hi 3,640 3,200 440
Oosgogts =2 20,000& = 2% = 913 3,640
308 XXM SO A 10,000 10,000 0
MIIERE=S 10,000 10,000 0
OEHY S£)/2 HWZ 2832
10,000,000& « 14l 10,000
20 g8 == N& 46,368 50,400 N4,032
S 17,388
Al 28,980
402 RI2FX=01 M 46,368 50,400 A4,032
< 17,388
Al 28,980
02 U2 THEALEZ(0IETHE) 46,368 50,400 N4,032
O20¢gs 8= XA 57,960,000& * 80% 46,368
= 17,388
Al 28,980
MEHEHT 22 30,000 154,286 A 124,286
= 21,000
< 2,700
Al 6,300
402 212t A= 01 & 30,000 154,286 A 124,286
= 21,000
< 2,700
Al 6,300
02 RIZEXt 2 AL EZ (01X ) 30,000 154,286 A 124,286
OdEold0 7 E=ALE  30,000,0008 * 14 30,000
= 21,000
< 2,700
Al 6,300
LIS HE+==SX& 8,225 0 8,225
< 2,350
Al 5,875
402 2I2H X201 M 8,225 0 8,225
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HEgo &A= A& 3,360 2,940 420
== 960
Al 2,400
402 BI2H X 20| M 3,360 2,940 420
o= 960
Al 2,400
02 QIZEXIEAIS E X (0| XM THL) 3,360 2,940 420
Odge A= K&
4,800,000& * 70% 3,360
& 960
Al 2,400
LA ol 2xH X&A 20,000 15,000 5,000
= 8,000
Al 12,000
307 212t0| & 20,000 15,000 5,000
o 8,000
Al 12,000
02 DI AAIE E X 20,000 15,000 5,000
OXG0l& ool REY X
40,000,000& = 50% 20,000
== 8,000
Al 12,000
A2 ME IS HHX& 89,296 126,000 N 36,704
o= 25,513
Al 63,783
402 SI2FXHE0| ™ 89,296 126,000 N 36,704
o= 25,513
Al 63,783
02 QIZEXIEANISE X (0| XM THLH) 89,296 126,000 N 36,704
Ol MEIHS HH XS
127,566,000& * 69.9991% 89,296
= 25,513
Al 63,783
& ALD zerost HAE &Yl K& 104,000 64,000 40,000
o=} 39,000
Al 65,000
402 SI2tXHE0| ™ 104,000 64,000 40,000
= 39,000
Al 65,000
02 QI2ZtXIE A E X (0| X THSH) 104,000 64,000 40,000
OO0 ALD zerosgt HE ZH| XS
130,000,000& * 80% 104,000
o 39,000
Al 65,000
S0 90 WED(YE2D|) N 113,680 14,700 98,980
= 32,480
Al 81,200
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= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
402 BI2FX=01 M 113,680 14,700 98,980
[ 32,480
Al 81,200
02 QI EASEZ (01X ) 113,680 14,700 98,980
O20f AS0E WHD(W2AI]) N
162,400,000& * 70% 113,680
= 32,480
Al 81,200
Hadl2 & "B XAL 39,900 27,195 12,705
< 11,400
Al 28,500
402 2I2H X201 M 39,900 27,195 12,705
< 11,400
Al 28,500
02 QI EASEZ (01X TS ) 39,900 27,195 12,705
OO&IIZ L HERULXIAIL
57,000,000& = 70% 39,900
< 11,400
Al 28,500
o FHI| 22 E I XA 20,900 13,777 7,123
< 7,838
Al 13,062
402 RI2EX20| ™ 20,900 13,777 7,123
< 7,838
Al 13,062
02 2IZF 2 A EZ (01X TH ) 20,900 13,777 7,123
o0& =ZADI| 2-HCEY XA
26,125,000& * 80% 20,900
< 7,838
Al 13,062
I Fgol MRS A 400,000 0 400,000
< 200,000
Al 200,000
307 21201 A 400,000 0 400,000
= 200,000
Al 200,000
04 DIZHHALALSE E X 400,000 0 400,000
OHM128 et=a+aFBA d3UE XN
400,000,000& = 14 400,000
< 200,000
Al 200,000
dacla & FHEZALE 3H A 320,000 0 320,000
< 120,000
Al 200,000
402 RI2tXt20l M 320,000 0 320,000
< 120,000
Al 200,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
02 QI EASEZ (OIS ) 320,000 0 320,000
OOfE%2l4 U FHSHAL Myl X2
400,000,000& = 80% 320,000
< 120,000
Al 200,000
2ol MEIIHA oA EH| (I 0ICH X 213,333 0 213,333
< 80,000
Al 133,333
402 2I2H X201 M 213,333 0 213,333
< 80,000
Al 133,333
02 QI EALEZ (OIS ) 213,333 0 213,333
O2afl HEIAHE S EHI(2llolChH X
266,666,000& * 80% 213,333
< 80,000
Al 133,333
of 2t &I[EtA = 1,643,974 4,999,003 A 3,355,029
< 242,500
Al 1,401,474
S OFM AL Off & 114,164 127,513 A 13,349
101 @124l 108, 164 122,513 A 14,349
04 JIZHHZ2XNSE S 108, 164 122,513 A 14,349
OgxZ=x etxze sSHA E= 108, 164
=Jl2g 67,0003 = 78 = 180¢ 84,420
oFFH 67,0008 * 7% = 36 16,884
oIt 67,0008 » 7% = 9 4,221
ocBE = 105,525,000& * 2.5% 2,639
201 ¢er24l 6,000 5,000 1,000
01 At 2t 2l 6,000 5,000 1,000
OgxZ7 AN 237
6,000,000& = 14 6,000
d=2 HSdAZ=03 X 90,000 90,000 0
< 45,000
Al 45,000
307 21201 A 90,000 90,000 0
< 45,000
Al 45,000
04 DIZHHALALSE E X 90,000 90,000 0
Od=lLAZ=S XA
100,000,000 * 90% 90,000
< 45,000
Al 45,000
Oe=d i 2332 =4 150,000 100,000 50,000
401 AIEHI L 20 150,000 100,000 50,000
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OO E® HYH4 2532 =4
150,000,000& * 14 150,000
SEFANE RA 22 21,000 20,000 1,000
201 LB-2dH| 6,000 5,000 1,000
01 At 22/l 6,000 5,000 1,000
O EZPANERX ZHAX 6,000,0008 * 14 6,000
401 Al B2 28I 15,000 15,000 0
01 A& HI 15,000 15,000 0
OSE AL 15,000,000& * 14 15,000
T8 grgrzte] el by x 52,000 66,000 214,000
307 21201 A 52,000 66,000 214,000
05 RIZt2IEt = 52,000 66,000 214,000
Ox=2xg ozl U o
52,000,000 = 14l 52,000
ASE Algdae 19,000 19,000 0
201 LBt | 6,000 6,000 0
02 2=2Z 4l 6,000 6,000 0
OZEE Xt MI|AIA(600kw) oF& 22|l
6,000,000& * 14 6,000
307 glz2+ol & 13,000 13,000 0
05 RIZIRI &3 13,000 13,000 0
OLEE M=+ SHELE KX 22
13,000,000& * 14 13,000
HENE =8 FHHl 100,720 100,720 0
401 Al& I & 28I 100,720 100,720 0
01 A& HI 100,000 100,000 0
O0g HAALE E= 100,000,000& * 1A 100,000
03 Al S THHI 720 720 0
Og HAAL 2= 100,000,000& * 0.72% 720
HEHE HEAS 351,890 351,890 0
401 Al Bl 28I 351,890 351,890 0
01 A& HI 350,000 350,000 0
OWHEZ=0g ZIH 22
150,000,000& * 1JH £ 150,000
OAnl &xZ3 oM 22
200,000,000& * 10H 4 200,000
03 Al 2 THHI 1,890 1,890 0
oog o 22 1,890,000& * 14 1,890
g2 A2 29 22,200 22,200 0
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